Unit6 Quantifiers to make comparisons

1) Comparative:
One sﬂlle.lou, ond bwoSy L(_aja(.a. Mlj

(A) (tobe) adj+er than (B)

*  You are older than me.
It’s colder today than it was yesterday.
French is easier to learn than Chinese.

I'd like to have a bigger car than this one.

]krw o move &y llebles = S
(A) (to be) more+adj. than (a
- Football is more interesting than Tennis.

- Spring is more beautg‘ulthan autumn.

Tennis is less interesting than football.
Football is more interesting than Tennis.

2) Superlative: ~ - - . T

- e
e

One Syllalole ond bwo Syllabte =) -

(A) (to be) the adj+est ......ccoeeeeee
You are the oldest student in the class.

- Todayis the coldest day this week.
P Chemlstry is the easiest subject t0 study.

S

W of Move, gw‘ Lv'i s
) (to be): thegmost/ the least: +adJ

I Egotballis the most interesting sport

ost beautrful season.

e Ieast dffﬁcult subject. -
opufar and. Wthh are the least popular?

-I}-

‘Sprlng is the most

= Chemlstry is the
Whrch subjects are.the. most’
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* Irregular Adjectives '~

[Rajectvein il [Comparativel Al Superlative o]
l[good 3 || better than o= Juadl re best dmﬂ‘ll |
[bad e || worse than O | gl ] [the worst ¢ g3 ]
far ny [ farther than (A3lse) o a2 Jre farthest

[further than_()=) o 24 |[the furthest J
[many < Jlnlore than o S Jre most J
[much &€ ~|[more than & 5 |[the most ]
llittle  J8 |[less than o= Jal ] [the least ]

Rewrite the following:

1- Travelling by car is less, expensive than travelling by plane.

----------------

Travelling by plane is.. e
+ 2-Long conversatlons are more expenswe on moblle phones than on landline
phones.

Long conversations on landline phones are... e~ o
3) Equality and Inequality: l

@A) (to be) as adjective as (B) (equality)
(A) (not/to be) as adjective as (B) (lnequalltv)

. - Basketball jsasi interesting as f?)tball
*_ paralympic games are not as popular as Olymplcs

-1G exams are as difficult as SAT exams. /-

/

Not sz'-;fé.less than not 8S.uuyy,S |
Pt Sl Vel

ehq"s i lessiinteresting than:football-
' as |ntere;t|ng as footbfll

yr‘l‘

—

- . . £ -
g Horror movies are less exciting than actlon movies.
Horror moune_i“e T e T L -
=, Studyingat Chomelishttasdi #ICH“ as’ s!ydymg abroad. |
Studying at home..... .......... ’/:,.. : -
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2.0A) (verb) . ity)
e as adverbas (B) (equality) \
(A) (not/verb) as adverb as (B) (inequality) :.

- Mahmoud works as hard as his brother.
- lcan’t run as fast as you. ‘
- The boy behaves as carefdlly as his father.

- T b r
- ft, B -
T - — —

@A) (verb/tobe) as many countable noun (plural) as (B) (Equality)

(A) (not/verb/tobe) as many countable noun (plural) as (B) tnequaiity

- There weren’t as many people there as | expected.
- There are not as many people in our class as in yours. :

- He doesn't have as many collection stamps as you have.
- There were as many as 50 people crowded into the tiny room.

Wow! Those DVDs! l’_d_on't have as many as you!

= -
- .

—

@A) (verb/tobe) as much uncountable noun as (B) (Equality) |

(A) (not/verb/tobe) as much uncountable noun as (B)  (inequality) |

. |don’t eat as much fast food as my brother.
Jim doesn't eat as much chocolate as | do! That's impossible!

- Greg makes as much money as Mick but not as much as Neil.
Scientists have discovered a planet which weighs as much as 2,500times

the weight of Earth. , |

Ahmad doesn’t spend as much as Ali. |
Ahmad spends less than Ali.

"M. e ;f»ﬂim‘wr~-1-ﬂhwy¢tk % : ; r-,',—r'u'-,;'é}“ ; - -

- teay7sugar, Iwater, ail, fice, knowledgecheauty, anger, €20 love, |

T T«—,—‘Te:"A_mpsl_,‘;a SR o ‘;, i e ‘
money,sresed rch,s;zsaiégty,Aewdenﬁqey.nEWS;,;furn[tgre, food, ﬂeedome,.__

=

-

o—

SYWe canalso tse s 1. as 2dverbially.
{450t like running ssmuch as like swimming./
We practise our English és.often a5 possible.
Ean o comeas soonas possible? -

LI S ==

e
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e % ot 13 e Relpa Bate] i A O oSy 100
.1 (A) (to be)  more +adjective than (B)-

(B) (tobe) less +adjective than  (A).
2) (A) (to be) less  adjective than (B).

(A) (to be/not) as adjective  as (B).

. Qllestlon .1 Rewrite the following sentences so that each new sentence has the similar
meaning to the one before it.

1. Watching sports on TV is less exciting than watching them alive.
Watching sports on TV

2. Reading is less interesting than using a computer. Sy |

Using |
3. Sara’s hair is longer than Muna’s hair.
. Muna’s hair |
~ 4. Then new English book is betterﬁhe old ore. " |
" The old English book =
5.Tam quite tall, but you are taller. :
" Tam not
- 6. The school is farther away than the market.
- The market
. 7. A rabbit is faster than a tortoise. L B
" A tortoise CER

8. Vocabulary exercises are generally more dlfﬁcult than grammar exercises.
Grammar exercises aren’t

9. No subject is more difficult than phy51cs
¢ Physics
10. No student in this class is as bad as Ali.
Ali
11. No material is cheaper than plastic.
Plastic '
12.The cheapest mobile is Nokla 3310.
The least
13.The easiest language is Arabic.
— The least ~—
14.Sami is the tallest student in my class.
No other student
, 15. Amani bought four notebooks but Omar bought only two.
¢ Omar didn’t
~ 16. Hind is 180 cm and Laila is only 160cm.
* Hind
- Laila

—
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17:There 1S nO season as cold as winter.
Winter is

18. There’s less information on the website than there is in the boak. (as much)

19. Swimming isn’t as dangerous as skiing.
Skiing CC
20.Shakespeare is more famous than Jules Verne.
Jules Verne isn’t

Question 8: Write the correct form of the word between brackets.
1. Sometimes email is than a telephone. (convenient)
2. There are 10 houses on our street. Our house isthe/ one. (big)
3. This isn'tthe, _  book I have ever read. (interesting) k3
4. Students believe that studying business is than studying law.

(good) N O
5. Living abroad isn’t as living in your own country. (easy)

Pt

Qu _M:mg There is a ngMem each of the following sentences, find

_ these mistakes and correct them

1. Mansaf is the more delicious meal in Jordan.
2. Japanese products are better from Chinese products.
3. London is biggest thanAmman
4. Arabic is the easier language.
| B b Mo

PGy 3 - .‘ ) . e . . ‘
Question: There is a missin word in each of the following sentences, find them out
and rewrite the sentences. :

Amman isfbiggest city in Jordan
Spring is beautiful than winter.
Ahmad is thinner his brother.
Chemistry is less difficult physics.
Ali isn’t as active his friend.

O = [d 2

o By =
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| 7 e
(expensive, dangerous, interesting, .... &) (Al ghll cilheall 4 lBe (
Swimming is more exciting than running. (R ok e bs S 3]
Running is less exciting than swimming. ()6 sk <)
Running is not as exciting as swimming. (st Judl e (i )
( children, people, boys, books... i 3gina gl (51) 184584 Agas A0 s (0
There are more people in Amman than in Irbid.
There are fewer people in Irbid than in Amman. (& sk i BaY)
There aren't as many people in Irbid as in Amman.
(time, money, information, water... Sia agina s pul ) Basina 28 Gas A (e
Sara spends more time studying than Ali.
Ali spends less time studying than Sara.

Ali doesn't spend as much time studying as Sara.
(tall, thin, big, cheap, sad, .... Jia) 13 paill ciliuall A3 jlaa (4

Ali is taller than Khaled.
Khaled is shorter than Alj. ( &icall (sSe cUall = o)
Khaled is not as tall as Ali.

Rewrite the following sentences using the words in brackets:
A £ AN gl Jlisaadl o) B gl SIEH Jligad) S50 el ) 1 ol s8I (o ilaldl pladiudy Jaad) 4US s
é 1. Law is more popular than medicine. (less) |

2 There is less information on the website than there is in the book. (as much)

3. The cheapest thing on the menu is orange juice. (the least)

4. My sister doesn't eat as much as | do. (less)

5. | haven't got as much homework as my brother. (more)

6. English isn't as difficult as Arabic. (less)

7 There aren't as many students studying Science as Maths. (more)

8. There are more books in my bag than in yours.. -~ -
There aren't <
9. | don't like music as much as | like Maths. A
| like i
10. Sara is less active than Ali.
Sara isn't
11. Tamer doesn't eat as much chocolate as Ali.
Ali
12. There is less sugar in this fruit than in this cake.
There isn't Rl N
13. Khaled has fewer books than Rami.
Rami has

A
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. 14. Laila eats more foo

d than Lara,
Lara doesn't

His brother

16. There is less milk in my tea than in your coffee.
There isn't

17. The Nile is longer than the Jordan River.
The Jordan River is

18. Mariam isn't as smart as the other students.
The other students

19. The sun is bigger than the Earth.
The Earth is
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